
Task 4 - Numbers to 100 – Bonds to 100 

We have looked at our number bonds to 10 lots. These are pairs of numbers that add up to 
make 10.  

0 + 10 = 10  10 + 0 = 10 

1 + 9 = 10   9 + 1 = 10 

2 + 8 = 10   8 + 2 = 10 

3 + 7 = 10   7 + 3 = 10 

4 + 6 = 10   6 + 4 = 10 

5 + 5 = 10 

 

We can use these to help us find number bonds to different numbers. For 
example:  

We know that 4 + 6 = 10. Therefore, we know that 40 + 60 = 100. This is just multiplying 
everything by 10! 
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Hint: Remember to use your number bonds to 10 to help you! 

 


